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QUESTION 1

Which licensing model is the most complex for a customer to manage?
A. Managed service agreement

B. Subscription

C. Enterprise agreement

D. A La Carte

Correct Answer: D

QUESTION 2

An important Cisco customer has a large number of individual licenses for Cisco One in Enterprise Networking and
engages many Webex users. The customer has expressed the intention to grow both groups and needs a compelling
and simplified proposal.

Which Cisco offer represents the best value for the customer?

A. Propose to migrate to perpetual model.

B. Suggest as implied discount DSA with the total of licenses from each product Cisco One and Webex.

C. Ask Cisco team to engage into a Smart Account or Enterprise Agreement and propose a creation of a Customer
Success Plan.

D. Prepare a Partner Branded Managed Service deal.

Correct Answer: C

QUESTION 3

Which of the Cisco Security product offerings focuses on identifying abnormal or suspicious network behaviors?
A. Meraki

B. Stealth watch

C. Tetration

D. App Dynamics

Correct Answer: B

QUESTION 4
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Customer A purchased a one-year WebEXx contract of 100 seats at $10 per seat. Customer B purchases a three-year
WebEXx contract of 100 seats at $10 per seat.

What is the annual recurring revenue (ARR) for each?
A. $1000 and $3000
B. $1100 and $3300
C. $1000 and $1000
D. $3000 and $3000

Correct Answer: C

QUESTION 5

Which success indicator for a Renewals Manager is valid?
A. increased deployment of licenses

B. stabilized customer satisfaction scores

C. new product introductions

D. on-time renewal

Correct Answer: B
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